3x2-x+2=029 et TS A, AT AHA X2 -3x-6=0
ol gt =& Bt & uf|, 342 + B2 — A - 3B 9] g2 5ot

342 -A+2=0,B>-3B-6=0°0]2&
342 -A=-2,B2-3B=6
. 3A%2 4+ B?>-A-3B
=3A-A+B*-3B
=-24+6=4




x ofl B oA HA ¥ 4+ 8x + 15 —m = 0 ] T2

ae Fakn?

@ o @1

@

@ 2

X4+8x+15-m=0
42 =15-m

Som=—1




D1 @ 2 ® 3 @4

O AA 2 —2x-1=00°] x=m & HY5}H,
m?2—2m—-1=0
14+2m=m?,1-m?>=-2m

m? 6m m? 6m

‘Tiom T-m me —om T34




AL A ax2 —3x+b=0,bx -3x+a=00°] &S L&

|
=
O, a+b o #2? (Haxb)

®-2 @0 @1 @:3 O

7}

A
=

T AN EE F(FF D)= a2t oHH
ac® —3a+b=0---@

ba? -3a+a=0---@

O-@E st (a—b)a®> - (a—b) =0
(a=b)(a®>-1)=0

a*—-1=0."a==+1
=14 O E=@ HUstHa+b=3
a=-14 M, O EE=Qf HYstH a+b=-3




5.

(x=1)(x=b) = -1°] T aE 7IABZ
x°ll aE Hgstd
(a=1)(a-b)=-1
i)a-1=-1,a-b=10 3%
a=0, b=-1, a#0°]B= FAJ}
ii)a-—1=1,a-b=-12 F$
a=2,b=3
L b=3




ax—-2y=-8° 4 (a-2, a*) S AUEE
ala-2)-2a*=-8

a’>-2a—-2a*>+8=0
-a*-2a+8=0,a>+2a-8=0
(@a+4)(a-2)=0

ca=-4FF=a=2

ax—2y = =8, y=§x~|—4 olm g

a>0% o, Al 4 AFEHES 2] o=t}
La=2




a> 0%z aoll tistod oA A x*42(2a-1)x+(3a’~4a+1) = 0
O F 2 T A2 2ol oA A A 4x® - 12px + 9p* = 09] 2 e

o, 2a + p o] #& F-stofzt

> (=1 ]
> =g 2

x? +2(2a—-1)x+ (3a® —4a +1) = 014
¥ +22a-1)x+Ba-1)(a-1)=0
(x+3a-1)(x+a-1)=0
Cx=-3a+1EE=x=-a
a>0°|B2 5L FF2I2
x=-3a+1---Q

4x% — 12px+9p? =0 oA (2x-3p)? =0

_3p
x—2 (™)

@, ONA —3a+1 = 32_1’
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